Fig. S1. Alignment of ¢/t13TU 10090 clones ITS sequences reveals the presence of five indels. The number of ITS sequences used in each

consensus sequence is given in parentheses [ ].
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Consensus AL CCARAGATTG ACGATTE G TAAGAATCCATAACARGTTE TTCTTCATAGA TG TATCTGA TGACTTTGACTG G TG ARG TTATAGA TAAAAAG A TACATAACTGATE ATTG TARG CT GAACTTARGAGAAGTTCGCATTATAGARR
¢/t13TU(Group2)615bp[2] 1 CGRARGA TTGA CGATTGG TRAGAATCCA CRACRAGTTG TTCTTCATAGA TS TATCTGA[ |TGACTTTGACTGG TTGAAG TTA TAGA T-ARAAGA TACA TGACTGA TGA TG TRAG CT) GARY TTARGA TAAGTTCGGA TTA CAGARA
c/t13TU(Group1)607bp[7] 2 CGRAAGA TTGA CGATTGG TRAGAATCCA (AA CRAGTTG TTCTTCATAGA T6 TA TCTGA| TGACTTTGACTGG TTARAG TTA TAGA T-AARAGA TACA TGACTGA ToA TG TAAG CT| GAACTTARGATAAGTTCGGA TTA CAGARA
¢/t13TU(10090)609bp[clone 11] AACGAARGA TTGACGATTGG TRAGAATCCA CAACAAGT TG TTCTTCATAGA TS TA TCTGA| TGACTTTGACTGG TToARG TTG TAGA TARARAGA TACA TGACTGA ToA TG TAAG CT| GAACTTARGAGAAGTTCGGATTA CAGARA
¢/t13TU(10090)609bp[clone 16] AACGARAGA TTGA CGATTE G TRAGAATCCA CAA CARGTTG TTCTTCATAGA TG TATCTSA) TGACTTTGACTGG TTAAG TTG TAGA TAARAAGA TACA TGACTGA ToA TG TAAG CT| GAACTTARGAGAAGTTCGGATTA CAGAAA
¢/t13TU(10090)609bp[clone 12] AR CGARAGA TTGA CGATTGG TRAGAATCCA CAR CARGT TG TTCTTCATAGA TG TA TCTSA) TGACTTTGACTGE TTGARG TTE TAGA TAARAAGA TACA TGRCTGA T6A TG TALG CT| GAACTTARGAGAAGTTCGGA TTA CAGALA
¢/t13TU(10090)609bp[clone 04] AR CGRARGA TTGA CGATTGG TRAGAATCCA (AR CAAGTTG TTCTTCATAGA TG TA TCTGA| @ [FGRCTTTGACTGE TTGRAG TIGTRGATARAAAGATACATCGACTGATBATE TRAGCT|  \ [GAGCTTAAGAGRRAGTTCGCATTACRGRRR
¢/t13TU(10090)608bp[clone 23] ARCGRARGA TTGACGATTEG TRAGAATCCA CRACAAGTTG TTCTTCATAGA TS TATCTGA| r—=  |TGACTTTGACTGG TTGAAG TTA TAGA TA -ARAGA TACATAACTGA TGA TG TRAG CT| — GAACTTARGAGAAGTTCGGA TTA CAGARA
c/t13TU(10090)608bp[clone 15] AACGRARGA TTGACGATTGG TRAGAATCCA (AACAAGTTG TTCTTCATAGATS TATCTGA| 1 (TGACTTTGACTGG TTGARG TTA TAGA TA -RARGA TACA TAACTGA TGA TG TAAG CT| T EAACTTAAGAGAAGTTCGGA TTACAGAAR
¢/t13TU(10090)608bp[clone 05] AACGAARGA TTGACGATTGG TRAGAATCCA CAACAAGT TG TTCTTCATAGA TS TA TCTEA| < |[[GACTTTEA CTEE TTCARG TTA TACA TA -AARGA TACATAACTGA ToA TG TAAG CT <C GAACTTAAGRGARGTTCGGATTACAGAAR
¢/t13TU(10090)608bp[clone 17] AR CGARAGA TTGA CGATTE G TRAGAATCCA CAA CARGTTG TTCTTCATAGA TS TATCTSA) Z, |TGACTTTGACTGE TToAAG TTA TAGA TA -AARGA TACA TAACTGA TSR TG TAAG C'J 7, [GAACTTARGAGAAGTTCGGATTACAGARA
¢/t13TU(10090)630bp[clone 22] AACGAAAGA TTGACGATTEG TRAGAATCCACAA CARGT TG TICTTCATAGATS TATCTEA| (¥ [TGACTTTGA CTGE TTGAAG TTA TAGA TA ~ARAGA TACA TAACTGA TEA TG TAAG CT] oY GAACTTAAGAGAAGTTCGGATTACAGARR
¢/t13TU(10090)630bp[cone 03] ARCGAARGATTGACGATTGG TRAGARTCCA CAACARGTTG TICTTCATAGATS TATCTEA| *  |[TGACTTTGACTGS TTGAAG TTA TAGATA -ARAAGA TACATAACTGATGATG TAAG CT| +— GAACTTARGAGARGTTCGGA TTACAGARR
¢/t13TU(10090)630bp[clone 14] RACGRARGA TTGACGATTGG TRAGAATCCA (AR CAAGT TG TTCTTCATAGA TG TA TCTGA| TGACTTTGACTGG TTGARG TTA TAGA TA -AARGA TACATARCTGA TGA TG TAAG CT| GAACTTARGAGRRAGTTCGGA TTA CAGARR
c/t13TU(10090)621bp[cone 07] AACGAARGA TTGACGATTGG TRAGAATCCA (AR CAAGT TG TTCTTCATAGA TG TA TCTGA| TGACTTTGACTGG TTGAAG TTE TAGATAREARAGA TACATGACTGA T6A TG TAAG CT| GAACTTAAGAGARAGTTCGGA TTA CAGAAR
¢/t13TU(10090)620bp[clone 01] AACGAARGA TTGACGATTGG TRAGAATCCA CAACAAGT TG TTCTTCATAGA TS TA TCTEA| TGACTTTGACTGG TToARG TTA TAGA T-ARAAGA TACA TAACTGA ToA TG TAAG CT GAACTTARGAGAAGTTCGGATTA CAGARA
¢/t13TU(10090)620bp[clone 19] AR CGARAGA TTGA CGATTE G TRAGAATCCA CAA CARGTTG TTCTTCATAGA TG TATCTSA) TGACTTTGACTGG TTGAAG TTA TAGA T-ARAAGA TACA TAACTGA ToA TG TAAG CT| GAACTTARGAGAAGTTCGGATTA CAGAAA
¢/t13TU(10090)620bp[clone 13] AR CGARAGA TTGA CGATTGEG TRAGAATCCA CAR CARGT TG TTCTTCATAGA TG TA TCTSA) TGACTTTGACTGE TTGARG TTA TAGA T-ARAAGA TACA TAACTGA T6A TG TALG CT| GAACTTARGAGAAGTTCGGA TTA CAGALA
¢/t13TU(10090)620bp[clone 20] AR CGRARGA TTGA CGATTGG TRAGAATCCA (AR CAAGTTG TTCTTCATAGA TG TA TCTGA] TGA CTTTGACTGG TTGAAG TTA TAGA T-ARAAGA TACA TAACTGA TSR TG TAAG CT| GAACTTAAGAGARGTTCGGATTA CAGAAR
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TTAG TARA TAGAGA TTTCE G TCTTGE TTTA TTAACTTCTG TGA TTTAAG TA TCACEG TA TTAAG CA TGA COTG ACG AAGE 06 TG TTTA TTCA T TAA CAG ATTG GICARAR TTG AG TCTG ARATARR T TGT TCACTCAR - - - - — ~GAG TTTAGATTARG CAATT- ~AATC- TRGA TG

(GroupZ)Glep[Z TTAG TAAA TAGAGATTTCGG TCTTGG TTTA TTAACTTCTG TGA TTTAAG TATCA CGG TA TTAAG CA TGA CCTGACGAAGE Ce TGTTTA TTCA TTAA CAGATTGG (AAAATTGAG TCTGAAATAAA TTGTTCACTCAATAACARAGAG - - —AGA TGAAG TAA TTCTGA TCTTGGAG TT
(Groupl 607bp[7 TTAG TRRATAGAGATTTCGG TCTTGG TTTA TTRACTTCTG TGA TTTRAG TATCACGG TA TTAAG CATGACCTGACGAAGE CRTGTTTA TTCA TTRACAGATTGG CARAA TTGAG TCTGAAATARATTGTTCACTCAA- - - - ———GAGTTTAGA TTARG CAATT--AATC-TGAR - TG
609bp clone 11] TTAG TRRR TAGRGA TTTCGG TCTTGG TTTA TTAR CTTCTG TGA T TTAAG TA T(A CGG TR TTAAG CA TGA CCTGACGAAGG CATGTTTA TTCA TTRA CAGATTGG CAAAR TTGAG TCTGAAATARA TTGTTCACTCAA-— ——GAGTTTAGATTARG CAATT--AATC-TGAR - TG
609bp clone 16] TTAG TAAR TAGAGA TTTCGG TCTTGG TTTA TTAR CTTCTG TGA TTTAAG TA T(A CGG T TTAAG CA TGA CCTGACGAAGE CATGTTTA TTCA TTAA CAGATTGG (AAAR TTGAG TCTGAAATARA TTGTTCACTCAA-— ——GAGTTTAGATTARG CAATT--AATC- TGAA - TG
609bp[cdone 12] TTAG TRAATAGAGA TTTCGG TCTTGG TTTA TTAA CTTCTG TGA TTTAAG TA TCA CGG TA T TAAG CA TGACCTGACGAAGE CATG TTTA TTCA TTAA CAGATTG G CAAAA TTGAG TCTGARATARA TTCT TCACTCAA- - ——GAGTTTAGATTAAG CAATT--RAATC-TGAR - TG
609bp[done 04] TTAG TRAATAGAGA TTTCGGE TCTTGE TTTA TTAA CTTCTG TGA TTTAAG TA TCACGE TA TTAAG CA TGA CCTGACGAAGE CATGTTTA TTCA TTAA CAGATTC G CAAAA TTGAG TCTGARATARA TTCT TCACTCAA- - —-GAGTTTAGATTARAG CAATT--AATC-TGAR-TG

608bp done 23] TTAG TAAR TAGAGA TTTCGG TCTTGG TTTA TTAA CTTC TG TGA TTTAAG TA TCA CGG TA TTAAG CA TGA CCTGACGAAGE CG TGTTTA TTCA TTAA CAGATTGE CAARA TTGAG TCTGAAATARA TTGTTCACTCAR -~ ——GAGTTTAGATTAAG CAATT--AATC- -TG
GOpr clone 15] TTAG TARR TAGAGA TTTCGG TCTTGG TTTA TTAA CTTCTG TGA T TTAAG TA T(A CGG TR TTAAG CA TGA CCTGACGAAGGE CG TGTTTA TTCA TTRA CAGATTGG CAAARA TTGAG TCTGAAATARA TTGTTCACTCAA-— ——GAGTTTAGATTARG CAATT--AATC- -TG
GOBbp clone 05] TTAG TRRR TAGAGA TTTCGG TCTTGG TTTA TTAR CTTC TG TGA TTTAAG TA T(A CGG TR TTAAG CA TGA CCTGACGAAGE CG TGTTTA TTCA TTRA CAGATTGG CAAAR TTGAG TCTGAAATARA TTGTTCACTCAA-— ——GAGTTTAGATTARG CAATT--AATC- -TG
GOpr clone 17] TTAG TARR TAGAGA TTTCGG TCTTGG TTTA TTAR CTTCTG TGA TTTAAG TA TCA CGG T TTAAG CA TGA CCTGACGAAGE C6 TGTTTA TTCA TTRA CAGATTGG (AAAR TTGAG TCTGARATARA TTGTTCACTCAA-— ——GAGTTTAGATTARG CAATT--AATC- -TG

630bp[done 22] TTAG TRAA TAGAGA TTTCGG TCTTGE TTTATTRA CTTCTG TGA TTTAAG TA TCA CGG TA TTAAG CA TGA CCTGACGARGE C6 TG TTTA TTCA TTRA CAGATTG G CARAA TTGAG TCTGAAATARA TTGT TCACTCAA- —
630bp[done 03] TTAG TAAATAGAGATTTCGE TCTTGE TTTATTAA CTTCTG TGA TTTAAG TA TCA CGG TA TTAAG CA TGA CCTGACGAAGE CC TG TTTA TTCA TTAA CAGATTC G CAAAA TTGAG TCTGAAATARA TTGT TCACTCAA-~
630bp[done 14] TTAG TRAR TAGAGA TTTCGG TCTTGG TTTA TTAA CTTCTG TGA TTTAAG TA TCA CGG TA TTAAG CA TGA CCTGACGAAGE CG TG TTTA TTCA TTAA CAGATTG G CAAAA TTGAG TCTGARATARR TTGTTCACTCAA- -

——GAGTTTAGATTAAG CAATT--RAATC-TGAR - TG
—-GAGTTTAGATTARAG CAATT--AATC-TGAR-TG
——GAGTTTAGATTAAG CAATT--AATC-TGAA-TG

621bp Clone 07] TTAG TRAR TAGAGA TTTCGG TCTTGG TTTA TTAR CTTCTG TGA TTTARG TA TCA CGG TA TTAAG CA TGA CCTGACGAAGSE CG TGTTTA TTCA TTAR CAGATTGGE CARRA TTGAG TCTGARATARA TTGT TCACTCRA—— ——GAGTTTAGATTARAG CAATT--RATC- -TG
Gzobp Clone 01] TTRG TRAR TAGAGA TTTCGG TCTTGG TTTA TTAA CTTC TG TGA TTTAAG TA TCA CGG TR TTAAG CA TGA CCTGACGARGE CG TGTTTA TTCA TTAA CAGATTGG (AAAA TTGAG TCTGRAATAAR TTGTTCACTCAA-— ——GAGTTTARGATTRAG CAATT--RATC- -TG
620bp Clone 19] TTAG TRAR TRGAGR TTTCGG TCTTGG TTTA TTRAA CTTC TG TGA TTTAAG TA T(A CGG TA TTRAAG CA TGA CCTGACGAAGS C6 TGTTTA TTCA TTRA CAGATTGG (AAAA TTGAG TCTGAAATARA TTGTTCACTCAA— - ——GAGTTTAGATTARG CAATT--RAATC- -TG
620bp[clone 13] TTAG TAAR TAGAGA TTTCGE TCTTGE TTTA TTRA CTTCTG TGA TTTAAC TA TCA CGG TA TTAAG CA TGA CCTCACGARGS CC TGTTTA TTCA TTAA CAGATTCS CARAA TTGAG TCTGARATARA TTCT TCACT CAA-——————GAGTTTAGA TTARG CAATT--AATC- -1
620bp[clone 20] TTAG TAAATAGAGA TTTCGE TCTTGE TTTA TTAA CTTCTG TGA TTTAAC TA TCA CGG TA TTAAG CA TGA CCTCACGAAGS CC TCTTTA TTCA TTAA CAGATTCS CARAA TTGAG TCTGARATARA TTCT TCACT CAA- - - - ——- GAGTTTAGA TTARG CAA TT--AATC- -1
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BATTEAGAA CTAG CARAT TAACTE AR TCAAGCGTTTTEG TA TATE AR TTTAG A TTGAAGETE TACAG TG TTTAKG TACACAG TACTCTGAA CTGARR TG TTGAR -~ —— =~~~ — =~ -G TT- - -ACTEACTTG TAGGTAACATCGACTE TTTEGEE TT: TAT
(Group2)615bp[2] AA TTGAGRA CTAG CRAATTAA CTGAA TCAAG CGTTTTGGE TA TATGAA TTTAGA TTGARGC TG TACAG TG TTTAAGTA CA CAG TA CTCTARA CTGARA TG TTHAR — —— — == —=————=—~—— -G TT-----ACTAACTTG TAGGTAA CGTCGA CTG TTTEGGE TTE TA T
(Groupl 607bp[7 AATTGAGRAACTAG CARATTAACTGAR TCAAG CGTTTTGG TA TATGAR TTTAGA TTGARAGCTG TACAG TG TTTARATA CACAG TRCTCTARR CTGRARA TG TTGAA — - -—GTT-—--ACTAACTTG TAGGTRACGTCGACTG TTTIGGGG TTG TAT
609bp Clone 11]2A TTGAGAA CTAG CARAT TAA CTGAA TCRAG CGTTTTGG TA TATGAR TTTAGA TTGARGCTG TACAG TG TT TARGTA CA (AG TR CTCTGAR CTGRARA TG TTGARA — - -——GTT--——--ACTAACTTG TAGGTAACATCGACIGTTIGGGG TTG TAT
609bp[done 16] AR TTGAGRA CTAG CARATTAA CTGAA TCAAG CGTTTTEG TA TATGAA TTTAGA TTGARGC TG TACAG TG TTTAAGTA CA CAG TA CTCTGAR CTGARA TG TTEAR - - - GTT-— - -ACTARCTTG TAGGTAACATCGA CTE TTTEGGE TTE TAT
609bp[clone 12] AR TTGAGAA CTAG CARAT TAA CTGAA TCAAG CGTTTTEG TA TATGAA TTTAGA TTGAAGCTE TACAG TG TTTAAGTA CA CAG TA CTCTGAA CTGARA TG TTGARA - -==GTT-----ACTAACTTG TAGGTAA CATCGACTE TTIE GGG TTE TAT
609bp[clone 04] A2 TTGAGAA CTAG CARAT TAA CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGAAGCTE TACAG TG TTTAAGTA CA CAG TA CTCTGAA CTGAAA TG TTGAA - - -——GTT-----ACTAACTTG TAGGTAA CATCGACTE TTIE GGG TTE TA T
608bp Clone 23| AR TTGAGRAA CTAG CARATTAA CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGAAGC TG TACAG TG TTTARGTA CA CAG TA CTCTGAG CTGARA TG TTGAR — - -—GTT-——--ACTAACTTG TAGGTAACATCGACTG TTIGGGG TTGTAT
GOBbp Clone 15] 2A TTGAGRA CTAG CAAAT TAA CTGAR TCRAG CGTTTTGG TA TATGAR TTTAGA TTGARGCTG TACAG TG TTTARGTA CA (AG TR CTCTGAG CTGRARA TG TTGRA — - -—GTT-——--ACTAACTTG TAGGTRACATCGACTG TTTIGGGG TTG TAT
608bp Clone 05] AR TTGAGARA CTAG CARATTAA CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGAAGCTG TACAG TG TTTARGTA CA CAG TACTCTGAG CTGARA TG TTGARA — - -——GTT--——--ACTAACTTG TAGGTAACATCGACIGTTIGGGG TTG TAT

608bp[cdone 17] AA TTGAGAA CTAG CAAAT TAA CTGAR TCAAG CGTTTTGG TA TATGAA TTTAGA TTGARGCTG TACAG TG TTTARG TA CACAG TACTCTGAG CTGARA TG TTGAA -~~~ ————————————— -G TT--—--ACTAACTTG TAGGTAACATCGACTE TTTEGGE TTG TAT

630bp[done 22] AA TTGAGAA CTAG CARATTAA CTGAA TCAAG CGTTTTEG TA TATGAA TTTAGA TTGAAGC TG TACAG TG T'T TAGATA CA CAG TA CTTCEAA CTC TATCGATGAATCAGAGATCATTIC TTCTE TTGICTACA CCRAACTTG TAGG TG T-AR|CCGACTG TTTEGGGE TTG TAT
630bp[done 03] AR TTGAGAA CTAG CARATTAA CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGAAGCTG TACAG TG TTTAGATA CA CAG TA CTTCGAA CTG TATGGA T AA TGAGAGATCATTTG TTCT: TTGICTACA CCRA CTTG TAGGTG T-AACGACTG TTTEGGE TTG TAT
630bp clone 14] AA TTGAGRA CTAG CAAATTAA CTGAR TCRAG CGTTTTGG TA TATGAA TTTAGA TTGAAGCTG TACAG TG TTTAGATA CA CAG TA CTTCGAR CTG TATCGA TGAR TGAGAGATCA TTTG TTCTE T TG/CTA CA CCRAA CTTG TAGGTG T-AAICGACTG TTTEGGG TTG TAT

Gzlbp clone 07] AR TTGAGRA CTAG CRAATTAA CTGAR TCRAG CGTTTTGG TA TATGAA TTTAGAE TTGARGCTG TACAG TG TTTARGTA CA CAG —A (RACAGA TAG TAG CGA [GAAGAR TCGICACH ——GGA-[GRACACTCRCTTG TAGGTG TTGA|CGACTG TTTGGG TTG TAT
620bp clone 01] AR TTGAGAA CTAG CAAATTAR CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGARGCTG TACAG TG TTTARG TA CA CAG —~A (AACAGA TAG TAG C6A TGAAGAA TCGICATH - ---GGA-[CAACACTCACTTG TAGGTG TTGA[CGACTG TTTG6G TTG TA T
620bp[done 19] AA TTGAGAA CTAG CARATTAA CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGAAGCTG TACAG TG TTTAAGTA CA CAG ~A (RACAGA TAG TAG CEATGAAGAATCGCATH — ---GGA-ICAACA CTCACTTG TAGGTG TTGA[CGACTG TTTGGG TTG TAT
620bp[done 13] AR TTGAGAA CTAG CAAATTAA CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGAAGCTG TACAG TG TTTAAGTA CA CAG -A QAACAGA TAG TAG CCA TG AAGRATCCICACH - --GGA-CAATA CTCACTTG TAGGTG TTGA[CGACTG TTTGGGG TG TAT
620bp[done 20] AR TTGAGAA CTAG CARATTAA CTGAA TCAAG CGTTTTGG TA TATGAA TTTAGA TTGAAGCTG TACAG TG TTTAAG TA CA CAG ~A C(AACAGA TAG TAG CGA TG AAGAA TCGCAT ————~ - — ~GGA-[CAACA CTCA CTTG TAGGTG TTGAICGACTG TTTGGGE TTG TAT




